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Chapter 12: Money 

1. Which one is the correct? 

 

 

 

2. The net assets of Tian Aan Company are RM752 800, 

and its liabilities are RM314 000. What is the total 

value of Tian Aan's assets? 

 

 

 

 

3. A box of chocolates will set you back RM18. It makes 

RM112 after selling 28 boxes. How much does a box of 

chocolates cost? 

 

 

 

Cost RM864.90 RM935.40 RM788.50 RM678.90 

Selling Price RM835.40 RM973.80 RM683.70 RM699.00 

Profit RM29.50  RM104.80 RM20.10 

Loss  RM38.40   
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4. Mid-year reductions are currently available at Galaxy 

Clothing Store; all clothing discounts are 30%. A shirt 

with an original price of RM88.50 was obviously 

purchased 4 times during the offer period. In all, how 

much did you save? 

 

 

 

 

5. In one year, Tian Xiang Restaurant achieved a profit of 

RM98,600. How much profit is left after the 

restaurant owner distributes 15% of the profits to the 

investors? 

 

 

 

 

6. Keewy has RM 9,800 in savings. For a year, she put her 

money in a trust fund with an interest rate of 8%. Two 

years later. How much money will Keewy be able to 

reclaim? 
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7. The assets of Daily Supermarket total RM867 500. 

100 Supermarket owns 85 percent of Daily 

Supermarket's assets. Assume 100 Supermarket has a 

net value of RM602 375. What is 100 Supermarket's 

liability? 

 

 

 

 

8. Mr. Lee and his family dined at the restaurant and 

spent RM235 on food. In addition, he must pay a 6% 

consumption tax and a 10% service charge. What is the 

total amount that Mr. Lee must pay? 

 

 

 

 

9. The cost of an album is RM103. If the price of an 

album is RM 135, what is the profit after selling 135 

albums? 

 

 

 


